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(2) ^m¡{VH$ amer d KQ>Zm
1) JwéËdmH$f©U -dñVw‘mZ, dOZ
2) n¥ð>VmU
3) Ho$erH$Ëd
4) Kf©U
5) {dî¶‘§XVm
6) Ðdàdmh

1) JwéËdmH$f©U - dñVw‘mZ, dOZ

1) XJS>mMo dOZ hdoV 392.40 N Am{U nmÊ`mV 196.20 N Amho. Va XJS>mMo KZ’$i {H$Vr ?
1) 8 × 104 cm3 2) 2×104 cm3 3) 4×104 cm3 4) 5×104 cm3

1) A stone weighs 392.4N in air and 196.2N in water. Compute the volume of stone.

1) 8 × 104 cm3 2) 2×104 cm3 3) 4×104 cm3 4) 5×104 cm3

2) EImXr dñVy  pñWa g‘Vmobm‘Ü ò Va§JVo Oa ............
1) ‘oQ>mg|Q>a JwéËdmH$f©U H|$ÐmÀ`m da Amho
2) ‘oQ>mg|{Q´H$ C§Mr eyÝ` Amho
3) JwéËdmH$f©U H|$Ð CN>mb H|$ÐmÀ`m da Amho
4) JwéËdmH$f©U H|$Ð Imbr Amho qH$dm CN>mb H|$Ð Amho

2) A body floats in stable equilibrium if the ............

1) metacentre is above the Centre of Gravity

2) metacentric height is zero

3) Centre of Gravity is above the centre of buoyancy

4) Centre of Gravity is below or a t the centre of buoyancy

3) n¥ÏdrÀ¶m H|$ÐmnmgyZ R ¶m A§Vamda EH$ CnJ«h JmobmH$ma H$joV {’$aV Amho. CnJ«h φ ¶m H$moZmVyZ {’$aVmZm ì¶mnbo
OmUmao joÌ A = R2φ/2 Amho. Ho$ënaÀ¶m Xþgè¶m {Z¶‘mZwgma Ago gy{MV hmoVo H$s, CnJ«hmbm 2φ H$moZmBVH$m
OmÊ¶mgmR>r bmJUmam doi :
1) φ H$moZmVyZ OmÊ¶mÀ¶m XþßnQ> doi bmJob.
2) φ H$moZmVyZ OmÊ¶mÀ¶m AYm© doi bmJob.
3) φ H$moZmVyZ OmÊ¶mÀ¶m doioÀ¶m dJm©BVH$m doi bmJob.
4) φ H$moZmVyZ OmÊ¶m BVH$mM g‘mZ doi bmJob.

3) Consider a satellite in circular orbit around the Earth at a distance R from the Earth's center. The

area that the satellite sweeps out as it moves through an angle φ is given by A = R2φ/2 Kepler's

second law implies that the time that it takes for the satellite to move through 2φ is :

1) double the time that it takes to move through φ.

2) half the time that it takes to move through φ.

3) the square of the time that it take to move through φ.

4) equal to the time that it takes to move through φ
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4) n¥ÏdrÀ¶m H|$ÐmnmgyZ R BV³¶m A§Vamda m BV³¶m dñVw‘mZmMm EH$ CnJ«h JmobmH$ma H$jo‘Ü¶o {’$aV Amho. Oa R ho
A§Va 4 nQ>rZo dmT>dbo, Va Ë¶m H$joMm AmdV©H$mb …
1) ~XbUma Zmhr 2) 4 nQ>rZo dmT>ob
3) 8 nQ>rZo dmT>ob 4) 64 nQ>rZo dmT>ob

4) A satellite of mass m is in circular orbit around the Earth at a distance R from the Earth's center.

If R is increased by a factor of 4, then the period of the orbit will be.

1) unchanged 2) increased by a factor of 4

3) increased by a factor of 8 4) increased by a factor of 64

5) gma»¶mM C§Mrdê$Z XmoZ Ag‘mZ dñVw‘mZmMo Jmoio Imbr Q>mH$bo. JwéËdmH$f©U ~b ho pñWa Amho Ago g‘Obo, Va
CnnÎmrÀ¶m ^m{H$VmZwgma XmoÝhr Jmoio n¥ÏdrÀ¶m n¥ð>^mJmda EH$mM doiog AmXiVrb. nU Oa dmñV{dH$ ~b J¥hrV Yabo
Va…
1) OmñV dñVw‘mZ Agbobm Jmoim àW‘ AmXiob.
2) H$‘r dñVw‘mZ Agbobm Jmoim àW‘ AmXiob.
3)  XmoÝhr Jmoio EH$mM doioV AmXiVrb.
4) darbn¡H$s H$mhrhr Zmhr, H$maU JVr g‘rH$aUo ho pñWa ~b A§Xm{OV Ho$ë¶m{edm¶ gmoS>{dVm ¶oUma ZmhrV.

5) Two balls of unequal mass are dropped from the same height. If the gravitational force is assumed

to be constant, then the theory predicts that they will hit the Earth's surface at the same time. If

the actual force is used instead, then the theory predicts :

1) that the ball with the larger mass will hit first.

2) that the ball with smaller mass will hit first.

3) that they will hit at the same time.

4) nothing, since the equation of motion cannot be solved without the constant force

approximation.

6) ‘oQ>mg|{Q´H$ C§Mr ................ ‘Yrb A§Va Amho.
1) Va§JUmè`m earamMo JwéËdmH$f©U H|$Ð Am{U CN>mb H|$Ð.
2) Va§JË`m earamMo JwéËdmH$f©U H|$Ð Am{U ‘oQ>mg|Q>a.
3) ‘oQ>mg|Q>a Am{U CN>mb H|$Ð.
4) CÎmoOH$VoMo ‘yi H|$Ð Am{U CbmT>mbrMo ZdrZ H|$Ð.

6) The metacentric height is the distance between the  ................

1) centre of gravity of the floating body and the centre of buoyancy.

2) centre of gravity of the floating body and the metacentre.

3) metacentre and centre of buoyancy.

4) original centre of buoyancy and new centre of buoyancy.

7) EImXr dñVy  pñWa g‘Vmobm‘Ü ò Va§JVo Oa ............
1) ‘oQ>mg|Q>a JwéËdmH$f©U H|$ÐmÀ`m da Amho 2) ‘oQ>mg|{Q´H$ C§Mr eyÝ` Amho
3) JwéËdmH$f©U H|$Ð CN>mb H|$ÐmÀ`m da Amho 4) JwéËdmH$f©U H|$Ð Imbr Amho qH$dm CN>mb H|$Ð Amho

7) A body floats in stable equilibrium if the ............

1) metacentre is above the Centre of Gravity

2) metacentric height is zero

3) Centre of Gravity is above the centre of buoyancy

4) Centre of Gravity is below or a t the centre of buoyancy
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8) JwéËdmH$f©UmMm {gÕm§V H$moUr _m§S>cm?
1) Ý ỳQ>Z 2) Zo{nAa 3) E{S>gZ 4) ~moha

8) Who put forth theory of gravitation?

1) Newton 2) Napier 3) Edison 4) Bohr

9) Imbrbn¡H$s H$moUVr nXmdbr hr JwéËdr¶ ËdaU d nXmWm©Mr n¥ÏdrÀ¶m n¥ð>^mJmnmgyZMr C§Mr ¶mMm g§~§Y Xe©{dVo ?

1) G(Re + h) 2) 2G(Re + h)2 3)   GMe   . 4)   GMe   .

    (Re + h)      (Re + h)2

9) Which of the following expressions shows how the acceleration due to gravity depends on the

height of an object above the surface of the Earth ?

1) G(Re + h) 2) 2G(Re + h)2 3)   GMe  . 4)   GMe   .

     (Re + h)     (Re + h)2

10) n¥ÏdrÀ¶m H|$ÐmnmgyZ m = GmMe (1/Re - 1/R) BV³¶m A§Vamda ..... BV³¶m dñVw‘mZmÀ¶m EH$m A{¾~mUmbm
J{V‘mZ hmoÊ¶mgmR>r bmJUmar D$Om© ..... BVH$s Amho. Va øm A{¾~mUmbm n¥ÏdrÀ¶m JwéËdmH$f©U joÌmnmgyZ nyU©V…
{ZgQ>Ê¶mgmR>r H$‘rV H$‘r {H$Vr doJ {Xbm nm{hOo ? (Q>rn … d¡pídH$ JwéËdmH$f©U pñWam§H$ … G = 6.67 x 10-11 N.m2/

kg2 , n¥ÏdrMo dñVw‘mZ … Me = 5.98 x 1024 kg Am{U n¥ÏdrMr {ÌÁ¶m … Re = 6.37 x 106 m)

1) ( 2 GM 
)

1/2

2) ( 2 GMe 
)

1/2

3) (2 gh)1/2 4) (2 mGRe)1/2

           Re             Re

10) The amount of energy needed to move a rocket having mas m from the surface of the Earth to a

distance R from the Earth's center is E = GmMe (1/Re - 1/R). What is the minimum velocity, the

rocket must have in order to competely escape the Earth's gravitational field ? (Note : G - 6.67 x

10-11 N.m2/kg2. The mass of the Earth is Me = 5.98 x 1024 kg and its radius is Re = 6.37 x 106m)

1) ( 2 GM 
)

1/2

2) ( 2 GMe 
)

1/2

3) (2 gh)1/2 4) (2 mGRe)1/2

           Re            Re

2) n¥ð>VmU

1) Ðì`-W|~mMr àd¥Îmr AmHw§$MZ nmdÊ`mMr AgVo d Vmo H$_rVH$_r n¥ð>r` joÌ ì`mnVmo `mMo H$maU ......... Amho.
1) {dî_§{XVm 2) ~mîn Xm~
3) n¥îUVmU 4) Ðd-W|~m^modVr Agcoë`m _mÜ`_mMr H$_r KZVm

1) The tendency of a liquid drop to contract and occupy minimum area is due to :

1) Viscosity  2) Vapour pressure

3) Surface tension  4) Higher density compared to surrounding medium

2) Imbrbn¡H$s H$moUVo n¥ð>^mJ VUmdmÀ`m KQ>ZoMo CXmhaU Amho?
1) nmdgmMo W|~ 2) PmS>mVrb agmMm CX`
3) {b{¹$S> OoQ²gMo ~«oH$An 4) darb gd©

2) Which of the following is an example of phenomenon of surface tension ?

1) Raindrops 2) Rise of sap in a tree

3) Break up of liquid jets 4) All ofthe above



‘hmamï´> amOn{ÌV ZmJar godm nyd©narjm gm‘J«r … gm‘mÝ` {dkmZ/ 24

For Private Circulation Only

3) nmÊ¶mÀ¶m W|~m§{df¶r nwT>o gd©gmYmaU {dYmZo AmhoV :
A)nmÊ¶mMm W|~mMm AmH$ma JmocmH$ma AgÊ¶mg n¥ð>VmU H$maUr ŷV Amho.
~) JwéËdmH$f©U ZgVmZmhr nmÊ¶mMm W|~mMm AmH$ma Jmoc AgVmo.
H$)Oa nmÊ¶mMo dñVw‘mZ VmUco Joco Va W|~ V¶ma hmoVmV.
darcn¡H$s H$moUVr {dYmZ/{dYmZo ~amo~a AmhoV?
1) A ’$³V 2) A Am{U ~ ’$³V 3) H$ ’$³V 4) A, ~, Am{U H$

3) Following are general statements about water drops.

a) Surface tension is responsible for the spherical shape of the water drops.

b) Even in the absence of gravitation, water drops have spherical shape.

c) Formation of water drops occurs, if mass of the water is stretched.

Which of the above statement/statements is/are correct?

1) (a) only 2) (a) and (b) only 3) (c) only 4) (a), (b), and (c)

3) Ho$erH$Ëd

1) Imcrc dm³¶o {dMmamV ¿¶m.
Ho$erH$Ëd KQ>Zm Zgoc Va
a) Q>rn H$mJX Ë¶mMo H$m¶© H$aUma Zmhr.
b) am°Ho$cMm {Xdm dmnaUmao AdKS> hmoB©c.
c) g^modVmcr {XgUmar PmS>o n¥Ïdrda dmT>Uma Zmhr
d) ehamV ZimÛmao nmUr dmhÊ¶mMr e³¶Vm Zmhr.
darcn¡H$s H$moUVr dm³¶o ~amo~a AmhoV?
1) ’$³V a,b,c 2) ’$º$ ~, H$, S> 3) ’$º$ A, H$, S> 4) ’$º$ A, ~, d S>

1) Consider the following statements.

If capillarity phenomenon did not exist.

a) The blotting paper would fail to function

2) It would be difficult to use kerosene lamp

c) The trees that we see around would not have grown on earth

d) The water cannot flow through pipes in cities

Which of the given statements are correct?

1) (a), (b) and (c) only 2) (b), (c) and (d) only

3) (a), (c), and (d) 4) (a), (b) and (d) only

4) KfªU
1) byO nmdS>aÀ`m ~m~VrV Kf©U eº$s ........ Ûmao ‘moObr OmVo.

1) {dKQ>Z MmMUr 2) dOZmMr EH$g‘mZVm
3) {dKQ>Z MmMUr 4) A±Jb Am°’$ [anmoP

1) The frictional forces in case of loose powder are measured by the .........

1) Dissolution test 2) Uniformity of weight.

3) Disintegration test 4) Angle of repose
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2) XmoZ n¥ð>^mJmÀ¶m ‘Ü¶o Á¶mdoiog d§JUmMm nmVi Wa g§nH$m©V AgVmo, Ë¶mdoiog Ë¶mbm ...... åhUVmV.
1) KZ Kf©U 2) AmdV©Zr Kf©Um 3) d§JU Kf©U 4) AmdaU Kf©U

2) When the two surface in contact have a very thin layer of lubricant in between them, it is known

as......

1) Solid friction 2) Rolling friction 3) Greasy friction 4) Film friction

3) Kf©Um‘wio hmoUmao ZwH$gmZ ........ Ûmao H$‘r H$aVm òVo.
A) Kf©U{da{hV ZwH$gmZr BV³¶m EH$H$mZo H§$S>am§Mo (tendons) AmoìhaQ>oÝeqZJ H$aUo
~) VwiB©À`m XmoÝhr Q>moH$m§nmgyZ H§$S>am O°H$ H$aUo.
{àñQ´>og g§X^m©Vrb Kf©U ZwH$gmZ g§X^m©V `mo½` {dYmZ {ZdS>m.
1) A ~amo~a Amho; ~ MwH$sMo Amho 2) A MwH$sMo Amho; ~ ~amo~a Amho
3) XmoÝhr ~amo~a AmhoV 4) XmoÝhr MwH$sMo AmhoV

3) Friction losses can be reduced by .........

a) Overtensioning the tendons by an amount equal to the maximum frictional losses

b) Jacking the tendons from both ends of the beam.

Pick up the correct statement with respect to frictional losses in prestress.

1) a is correct; b is incorrect 2) a is incorrect; b is correct

3) Both are correct 4) Both are incorrect

4) gd© Z¡g{J©H$ à{H«$`m ............ nma nmS>ë`m OmVmV.
1) ‘`m©{XV J«o{S> §̀Q>gh 2) Agr‘ hiyhiy
3) OoUoH$ê$Z CÎmrU© Pmbobr gd© amÁ ò g‘Vmob pñWVrV AgVrb 4) darb gd©

4) All natural processes are carried out ........

1) with finite gradient 2) infinitely slowly

3) so that all states passed are in equilibrium 4) All of the above

5) KZVm, {dî¶‘§XVm
1) Oa nmÊ¶mMr KZVm 1000 kgm-3 Am{U Vm§ã¶mMr KZVm 8.9 × 103 kgm-3 Agob Va Vm§ã¶mMr gmnoj KZVm {H$Vr?

1) 8.9 2) 8.9 kgm-3 3) 8.9 × 106 4) 8.9 × 10-6

1) If density of water is 1000 kgm-3 and density of copper is 8.9 × 103 kgm-3. What is relative density

of copper?

1) 8.9 2) 8.9 kgm-3 3) 8.9 ´ 106 4) 8.9 ´ 10-6

2) {Zanoj {dî¶‘§XVoMo SI EH$H$ N.s/m2  Ago Amho. `m ẁ{ZQ>~Ôb Imbrbn¡H$s H$moUVo gË` Amho?
1) 1 N.s/m2 = 10 poise 2) 10 N.s/m?.= 1 poise

3) 1N.s/m? = 10 stokes 4) 10 N.s/m? = 1 stoke

2) SI unit of absolute viscosity is N.s/m2. Which of the following is true about this unit ?

1) 1 N.s/m2 = 10 poise 2) 10 N.s/m?.= 1 poise

3) 1N.s/m? = 10 stokes 4) 10 N.s/m? = 1 stoke
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3) 30 go‘r ì`mgmÀ`m nmB©n‘YyZ nmUr 4 m/s doJmZo dmhVo. 10 go‘r ì`mgmÀ`m Xwgè`m nmB©n‘YyZ Vob dmhV Aho. Oa
¶m XmoÝhr nmB©n‘Yrb S>m`Z°{‘H$ g‘mZVoMr pñWVr g‘mYmZH$maH$ Agob Va  Xwgè`m nmB©n‘YyZ dmhUmè`m VobmMm doJ
{H$Vr ? nmUr Am{U VobmMr  {dî¶‘§XVm 0.01 nm°B©g Am{U 0.025 nm°B©g Aer Amho. VobmMo {d{eï> JwéËd = 0.8.
1) 75.3 ‘r/go 2) 37.5 ‘r/go 3) 73.5 ‘r/go 4) 57.3 ‘r/go

3) Water is flowing through a pipe of diameter 30 cm at a velocity of 4 m/s. Find the velocity of oil

flowing in another Pipe of diameter 10 cm, if the condition of dynamic similarity is satisfied

between the two pipes. The viscosity of water and oil is given as 0.01 poise and 0.025 poise. The

specific gravity of oil = 0.8.

1) 75.3 m/s 2) 37.5 m/s 3) 73.5 m/s 4) 57.3 m/s

4) ÐdnXmWm©Mo {d{eï> AmH$ma‘mZ ........... Mo ì¶ñV à‘mU Amho.
1) KZVm 2) gmnoj KZVm 3) {d{eï> dOZ 4) {d{eï> JwéËd

4) The specific volume of a fluid is the reciprocal of ...........

1) density 2) relative density 3) specific weight 4) specific gravity

5) Imbrbn¡H$s H$moUË`m H$maUm‘wio gr‘m ñVa ApñVËdmV Amho?
1) n¥ð>^mJmdarb VmU 2) JwéËdmH$f©U à^md
3) ÐdnXmWm©Mr {dî¶‘§XVm/ {MH$Q>nUm 4) darbn¡H$s H$moUVohr Zmhr

5) On account of which of the following does the boundary layer exist ?

1) Surface tension 2) Gravitational effect 3) Viscosity of fluid 4) None of the above

6) H$m¶Zo‘°{Q>H$ {dî¶‘§XVm .......... Amho.
1) S>m`Z°{‘H$ {dî¶‘§XVm Am{U dñVw‘mZ KZVoMo JwUmoÎma
2) ÐdmÀ`m dñVw‘mZ KZVoMo S>m`Z°{‘H$ pìhñH$mo{gQ>rer JwUmoÎma
3) S>m`Z°{‘H$ {dî¶‘§XVm Am{U ÐdmÀ`m dñVw‘mZ KZVoMm JwUmH$ma
4) S>m`Z°{‘H$ {dî¶‘§XVm Am{U ÐdmÀ`m dñVw‘mZmMm JwUmH$ma

6) The kinematic viscosity is the ..........

1) Ratio of dynamic viscosity to the mass density

2) Ratio of mass density of the liquid to the dynamic viscosity

3) Product of dynamic viscosity and mass density of the liquid

4) Product of dynamic viscosity and mass of the liquid

6) Ðdàdmh

1) ^maVr` ‘mZH$ ã ẁamo (BIS)  Ûmao A`mo½`VogmR>r EHy$U TDS gmR>r {nÊ`mÀ`m nmÊ`mMr ‘mZHo$ H$moUVr {Z{X©ï> Ho$br
AmhoV?
1) Q>rS>rEg 4000-5000 {‘J«°/{bQ>a 2) Q>rS>rEg 3000-4000 {‘J«°/{bQ>a
3) Q>rS>rEg 2000-3000 {‘J«°/{bQ>a 4)  TDS  2000 {‘J«°/{bQ>a

1) What are the drinking water standards specified for total TDS by the Bureau of Indian Standards

(BIS) for unsuitability ?

1) TDS 4000-5000 Mg/litre 2) TDS 3000-4000 Mg/litre

3) TDS 2000-3000 Mg/litre 4) TDS upto 2000 Mg/litre



‘hmamï´> amOn{ÌV ZmJar godm nyd©narjm gm‘J«r … gm‘mÝ` {dkmZ/ 27

For Private Circulation Only

2) EHy$U ~rAmoS>rn¡H$s {H$Vr Q> o̧$ gm§S>nmÊ`mMm n{hbm Q>ßnm ~rAmoS>r Amho?
1) 90% 2) 100% 3) 99% 4) 98.5%

2) How much percentage of the total BOD is the first stage BOD for sewage ?

1) 90% 2) 100% 3) 99% 4) 98.5%

3) Imbrbn¡H$s H$moUË`m ‘mnZ §̀Ìm‘Ü ò ~Zm£brMo g‘rH$aU dmnabo OmVo?
1) ìh|À ẁ[a‘rQ>a 2) Amo[a{’$g‘rQ>a 3) {nQ>moQ> Q>çy~ 4) darb gd©

3) In which of the following measuring devices is Bernouili’s equation used ?

1) Venturimeter 2) Orificemeter 3) Pitot tube 4) All of the above

4) nmœ© VmU Am{U aoIr` VmU `m§Mo JwUmoÎma ........... åhUyZ AmoiIbo OmVo.
1) ‘m°S>çwbg Am°’$ BbmpñQ>{gQ>r 2) ‘m°S>çwbg Am°’$ [a{O{S>Q>r
3) nm°gm°ZMo JwUmoÎma 4) bd{MH$ ‘`m©Xm

4) The ratio of  lateral strain to linear strain is known as ...........

1) Modulus of elasticity 2) Modulus of rigidity

3) Poisson’s ratio 4) Elastic limit

5)  pñWam§H$, ho J{UVr¶ {dYmZ ............. ¶m ZmdmZo AmoiIco OmVo.

1) gmVË¶ g‘rH$aU 2) ~Zm}crMo g‘rH$aU
3) nmñH$cMm g‘rH$aU 4) ¶wcaMo g‘rH$aU

5)  constant is the mathematical statement of

1) Equation of continuity 2) Bernoulli’s equation

3) Pascal’s law 4) Euler’s equation

6) Imbrb {dYmZmV H$moUVm H$m`Xm {Xbm Amho?
pñWa ÐdnXmWm©Vrb EH$m q~Xyda Xm~ qH$dm Xm~mMr Vrd«Vm gd© {Xem§Zm g‘mZ AgVo.
1) Ý ỳQ>ZMm {Z`‘ 2) nmñH$bMm {Z`‘
3) Amo‘Mm {Z`‘ 4) W‘m}S>m`Zm{‘ŠgMm Xwgam {Z`‘

6) Which law is given in the following statement ?

“The pressure or intensity of pressure a t a point in a static fluid is equal in all directions.”

1) Newton’s law 2) Pascal’s law

3) Ohm’s law 4) Second law of Thermodynamics

7)  ............. ñV§̂ mÀ`m ~H$qbJgmR>r bhmZ Vo bm§~ ñV§̂ m§n ª̀VÀ`m ñV§̂ m§À`m gd© Ho$goggmR>r `mo½` n[aUm‘ {‘iVmo.
1) ẁbaMo gyÌ 2) a±H$mB©ZMo gyÌ
3) ‘mohaMo gyÌ 4) Hw$bm°å~Mo gyÌ

7) ............. for buckling of column gives fairly correct result for all cases of columns ranging from

short to long columns.

1) Euler’s formula 2) Rankine’s formula

3) Mohr’s formula 4) Coulomb’s formula
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8) Imbrbn¡H$s H$moUVr CbQ> H$aVm òUmar AmXe© à{H«$`m Agy eH$V Zmhr?
1) Ðdm§Mo g§jonU Am{U CH$iUo 2) Kf©U{da{hV A°{S>~°{Q>H$ {dñVma
3) Kf©Ua{hV g‘Vmnr` {dñVma 4) XmoZ Ðdm§Mo {‘lU

8) Which of the following cannot be the ideal reversible process ?

1) Condensation and boiling of liquids 2) Frictionless adiabatic expansion

3) Frictionless isothermal expansion 4) Mixing of two fluids

9) ‘oQ>mg|{Q´H$ C§Mr ................ ‘Yrb A§Va Amho.
1) Va§JUmè`m earamMo JwéËdmH$f©U H|$Ð Am{U CN>mb H|$Ð.
2) Va§JË`m earamMo JwéËdmH$f©U H|$Ð Am{U ‘oQ>mg|Q>a.
3) ‘oQ>mg|Q>a Am{U CN>mb H|$Ð.
4) CÎmoOH$VoMo ‘yi H|$Ð Am{U CbmT>mbrMo ZdrZ H|$Ð.

9) The metacentric height is the distance between the  ................

1) centre of gravity of the floating body and the centre of buoyancy.

2) centre of gravity of the floating body and the metacentre.

3) metacentre and centre of buoyancy.

4) original centre of buoyancy and new centre of buoyancy.

3) Compressibility

4) Storage coefficient

10) Ooìhm EImXo eara ÐdnXmWm©V A§eV… qH$dm nyU©nUo ~wS>dbo OmVo, Voìhm CÜd©gaUmMm Omoa ........ À¶m g‘mZ AgVmo.
1) earamMo dOZ
2) earamÛmao {dñWm{nV ÐdnXmWm©Mo dOZ
3) earamÀ`m AmH$ma‘mZmÀ`m g‘mZ ÐdmÀ`m KZ’$imMo dOZ
4) darbn¡H$s H$mhrhr Zmhr

10) When a body is immersed in a fluid, partially or completely, the force of buoyancy is equal to -

1) the weight of the body.

2) the weight of the fluid displaced by the body.

3) the weight of the volume of the fluid equal to the volume of body.

4) None of the above

11) CÜd©gmaUmMr pñWVr ........ `mda Adb§~yZ AgVo.
1) {dñWm{nV ÐdmMo dOZ 2) Ðd Á`m Xm~mZo {dñWm{nV hmoVmo
3) ÐdmMr {dî¶‘§XVm 4) ÐdmMr g§Hw${MVVm

11) The buoyancy depends upon the .........

1) Weight of the liquid displaced 2) Pressure with which the liquid is displaced

3) Viscosity of the liquid 4) Compressibility of the liquid

12) Ðd àdmh pñWVrV gm‘mÝ` àdoJ VoìhmM ApñVËdmV AgVmo, Ooìhm .........
1) àdmh ApñWa Amho. 2) àdmh {Û{‘Vr` Amho

3) àdmh gai Am{U g‘m§Va AmhoV. 4) àdmh dH«$ AmhoV.
12) Normal acceleration in fluid flow situation exists only when

1) the flow is unsteady. 2) the flow is two-dimensional.

3) the streamlines are straight and parallel. 4) the streamlines are curved.
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13) H$moUË¶mhr dmhZmMm doJ OmUyZ KoÊ¶mgmR>r .......... dmnabr OmVmV.
1) ES>r H$a§Q> (MH«$mH$ma àdmh) 2) {dÚwV àdmh
3) M§~wH$s¶ àoaUm 4) ¶mn¡H$s Zmhr

13) ............ are used to know the speed of any vehicle.

1) Eddy currents 2) Electric currents

3) Magnetic induction 4) None of these

14) Ooìhm àdmh b°{‘Zma AgVmo Voìhm JmobmH$ma nmB©n‘Ü ò OmñVrV OmñV doJ ....... ¶oWo  AgVmo.
1) nmB©nMm daMm ^mJ 2) nmB©nMm Vi
3) nmB©nMo H|$Ð 4) darbn¡H$s H$mhrhr Zmhr

14) The maximum velocity in a circular pipe when the flow is laminar, occurs at ........

1) the top of the pipe 2) the bottom of the pipe

3) the centre of the pipe 4) None of the above
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CÎmao … (2) ^m¡{VH$ amer d KQ>Zm

1) JwéËdmH$f©U - dñVw‘mZ, dOZ

1-2 2-1 3-1 4-3 5-3 6-2 7-1 8-1 9-4 10-2

2) n¥ð>VmU

1-3 2-4 3-4

3) Ho$erH$Ëd

1-1

4) KfªU
1-4 2-3 3-3 4-1

5) KZVm, {dî¶‘§XVm
1-1 2-1 3-2 4-1 5-3 6-3

6) Ðdàdmh

1-4 2-1 3-4 4-3 5-2 6-2 7-2 8-4 9-2 10-2
11-1 12-4 13-1 14-3


